——

[@) O [@) [&)
O O o O
[«@)D) [€@)D) ap ap [«@)) [«@)) [«@)) [€@)) T
(&) o (&) (&)
o
(@] O O
«©
_ SEE DETAIL A
500 500 500 500 500 500 500 500
I | I I I I |
225
1 E ﬂ
|
. ITEM NO.| PART NO. DESCRIPTION KIT QTY
o 1 10007841 | ZEE PARK SENTINEL POST 610mm OAll 8
2 10005590 | W—BEAM GUARDRAIL 4.0M N.L.L 1
3 10001347 | M16 X 35 HEX HEAD BOLT 8
LQ 4 10001242 | M16 WASHER 8
. - DETAIL A 5 10006769 | M16 X 40 SPLICE BOLT 8
g 6 10001239 | M16 OVERSIZE NUT 16
300 7 10006675 | M20 X 180MM STUD W/NUT & WASHER -
SIDE VIEW
NOTES:
1. TO BE INSTALLED AS PER THE 'CARPARK & INDUSTRIAL BARRIERS'
PRODUCT MANUAL
. NAME DATE INGAL PROJECT Q/SF?TL NC(\)\./\L PRODUCTS
Lol
<2 < DRAWN me 150247 CIVIL PRODUCTS 10008112/10008113
% = CHECKED PP 15-02-17 A valmont¥* conpANY
il Lol
o B APPROVED PP 1B0247 | AL L PRODUCSS. AND CAN OMLY BE Usep | | ZEE PARK SENTINEL RAING o
SCALE N.T.S. @ A3 ;V‘RTSDECR“((;R WRITTEN CONSENT FROM INGAL CIVIL GENERAL ARRANGEMENT STB_055
REV DATE DESCRIPTION DRAWN CHECKED |APPROVED DRAWING NUMBER REFERENCE DRAWINGS ISSUE FOR INFORMATION ONLY 3\7%}%5, /N\EDWS 55%? id'WATnZL\fxﬁiiﬁifﬁ m

J:\SALES & MARKETING\ENGINEERING ARCHIVE\STANDARDS\STB_STD\DWGS\STB-055 ZEE PARK SENTINEL GA.DWG



